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imarinakis.mysch.gr 

𝜂 =
𝑃

𝑃𝜇𝜂𝜒
⇔ 90% =

9

𝑃𝜇𝜂𝜒
⇒ 𝑃𝜇𝜂𝜒 =

9

90%
=

9

90/100
= 10𝑘𝑊 

 

 

𝜀 % =
𝑈0 − 𝑈𝑁

𝑈𝑁
⇔ 5% =

𝑈0 − 200

200
⇔ 200 ∗ 5% = 𝑈0 − 200 ⇒ 

𝑈0 = 200 + 200 ∗ 5% = 200  1 +
5

100
 = 210𝑉 

 

𝑃𝜇𝜂𝜒 = 𝑃𝛼𝜋 + 𝑃 =  𝑃𝛼𝜋 (𝜍𝜏𝛼𝜃𝜀𝜌 έ𝜎)
+ 𝑃𝛼𝜋 (𝜇𝜀𝜏𝛼𝛽𝜆𝜂𝜏 έ𝜎)

 + 𝑃 ⇒ 

𝑃𝛼𝜋  𝜍𝜏𝛼𝜃𝜀𝜌 έ𝜎 
= 𝑃𝜇𝜂𝜒 − 𝑃𝛼𝜋  𝜇𝜀𝜏𝛼𝛽𝜆𝜂𝜏 έ𝜎 

− 𝑃 = 10.000 − 400 − 9000 = 600𝑊 

 

 

𝑃𝜂𝜆 =  3𝑈𝜋𝜊𝜆 𝛪𝛾𝜌 𝜍𝜐𝜈 𝜑 =  3 ∗ 230 3 ∗ 5 ∗ 0,8 = 2760𝑊 

 

𝑛𝑠 =
𝑓

𝑝
60 =

50

2
60 = 1500𝜍𝜏𝜌./𝑚𝑖𝑛 

 

𝑠% =
𝑛𝑠 − 𝑛

𝑛𝑠
⇔ 2% =

1500 − 𝑛

1500
⇒ 1500 ∗ 2% = 1500 − 𝑛 ⇒ 

𝑛 = 1500 − 1500 ∗ 2% = 1500 1 − 2/100 = 1470𝜍𝜏𝜌./𝑚𝑖𝑛 

 

𝑠% =
𝑛𝑠 − 𝑛0

𝑛𝑠
=

1500 − 1494

1500
=

6

1500
= 0,004 ∗ 100 = 0,4 

 


